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234 18 450 2.50 3.50 -0.01 450 3.10 1.00 3.50 3.65 13.75 6.25

2 475 3.00 4.00 -0.01 450 335 1.00 3.50 3.65 13.75 6.50
3" 5.00 3.50 425 -0.03 450 3.60 1.50 3.50 3.65 13.75 6.50
48 5.00 3.50 425 -0.07 450 3.60 1.50 3.50 3.65 13.75 6.50
58 5.25 3.75 450 -0.07 4.50 3.85 1.50 3.50 3.65 13.75 6.50
6 5.25 400 5.00 -0.08 475 4.10 1.75 3.50 3.55 13.75 6.50
73 5.50 425 5.00 -0.06 5.00 4.10 1.75 3.50 355 13.75 6.50
8d 5.50 425 525 -0.06 5.00 4.10 1.75 3.50 345 13.25 6.50
9& 5.50 450 5.25 -0.06 5.00 = 1.75 3.50 345 12.75 =
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